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f o I I ow i ngg u e s!! g-!,lU on has

Qf . Ut" Matlab to these tasks:

a. Given a=10, comPute x = l;;C6-tr/o
b. Given c=[5 4.8 '.' -4'8 -5], compute V = fi e-"

c. 6= [ 101 100ee ... lgoor 160 1 ..L^-^ ^ ^-,.r .r ara from the orr
d.WhatwillyougetwhenyoucomputeZasZ=c*d,wherecanddarefromtheprevtous

ouestions Qlb and Qlc'

e. compute d, dr @ from Q1c)'

t1 1L eel
lz p ". ezl

f. Define cMat =l . ' 
I

Lro zo lool
g. True or r.tre, irr. number 0,5 has an exact representation in binary system' (why?)

Q2.
a) Using Matlab tofind the solution *Y:iTl'Sl svstems:

Z+W =2

X +Z =2

Y -W=0

b) Find Y'whereY=stnzx coszx'

c) ,I A=(t i l)' use Matlab to compute the determinant and rank of A'

\+3il
d)WhatdoesthefouraMatlabfunctions:magic'eye'sizeandlengthmean?

Matlab statements?

Q4.

ilrn., is the vatue of b where x = [12 3 4]; b=n2 [=......

b) Draw a flowchart describing the computation of sphere volume which is eOual f r3

c)Converttheflowchart(inQab)toMatlabfunctionsphereVolwhichtakesraSvector.

d)WriteaMatlabfunctiondegree2rankthattakesdegreeasinputandreturnsrankasoutput.

The rank= 
,A, if degree greater than or equal 90, rank = 

,8,, if 80 <=degree< 90, otherwise the

rf,rL-+ ic rha nrrtout from the fOll

P=1;
k=1;
while (k < 5)

p=2*Pi

I k=k+l;

I 
end

lp

^-1)-r

for( k=5:3:12)

s=s* K;

end

S

A=[12;3 4];

P = A.*A;
P

P=0;
:-{.
l- L,

l- Lt

while (i/j>0'1)
j=j+j;

,Q=Q+ili;
I end
Ilp

rank =,ND,. For cxamptc degrce 2rank(91') ='4', degree2ronk(841 ='g" degree2ronk(78) ='1t19''
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:a*iyr ,Jrdt fi *t (i) -o(oLry 1)

(i) e* + n, =!, (ii) y=,(x? + r[i;sin-r x , (iii) y-log (tan x)2 .
x

:Oi e& {AJP ! = xz cos r o:u til 1+)

(*r+Jr r) *'*-4x+*(*'+6) y-'o
dx' dx

(at+Jr t)

(et+Jr 1)

. y -sin 4;s fut.rJJ fu" 
"rr:t 

iii.l^:t .rpi 1i1 -'t

,fut.rl i+ts.ll ,e;i,all3 ,..l&lt aglt .r13i (+)

.f (x)=x3 +2xz -4x_8

#ti1a , i+-j rJ+r l. ,,., ,iliJilt+ g.ll;j.c3 e. rli,*yt r"'(iif.65rs6
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rr) [.se integratiorl bv p:rrts to er':rluate

it ! nl;':?ax ll ! xsecx tanx dx

b) Find the area of the region enclosed by the curves:

')

c,\1,a\rJl e,.i -fJl,ll 
{$

j:rUl !+Je+ /-et a'!;srt

il

3
\1 :-,J4

And the area of the region enclosed by the ellipse

r=rlcos[ , y= l:Sittf

x\
L\J \

,rgr+ 11 e[ll ;tll .r*']1'Sl 'J'''ill /Yt# 6L:'' ^i

JLicU.: o^-!l Y.\o\ \ :gpliJl (t\ . o) lt$!; ;ir\'"Jl

1;Eyti!-Yl (P ++1

the tollon'ing integrals:

e lttx 
'tl) | --; ax"x-

.(,'?n^Yk'

f,la) Use the method of compieting the

evaluate each of the following integrals:
)

r) i---.-.dr.- \ \- -f-\+5

"Lil) | --===.-:.:-ox
' J r 8*2x-f"

b) Derive the following reduction formula using integration by parts:

Irr: Ixt(llrx)"rl = #- #',,-,

lla)Findthecoordinatesofthevertexandthefocus,theequationsoftheaxisanddirectrix'and
thelengthof thelatusrectumof theparabola 3xz -Bx+4y*Z=0andsketchthecurve'Smctf{

b) Find the general equation of the circle that has center (2'3) and passes through 1S' -f l'(5"flnfd

{) a) Find and Distinguish between the equations of the bisectors of the angles berween the lines I

.3x-4y*B=0 anur sx*rzy-15=0. 
)rseLLUt5t.'rLrtLqrr.ruJ (,murtqil

(

b) I;ind r5e equation of the ellipse with foci at (4,-])and (10,-2) and vertex at (LZ'-2)'[f *'nfnfJ

!) Determine the coordinates of the center, foci, vertices ' the equations of the asymptotes and

rheeccenrriciryof rhehyperp ola:76y2 -9x2 = 144 
r'rrrv 

t 5*^rx)

square along with a trigonometric substitution

(['
if needed to

'?r ctf k >
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I sinx a

(2)l ^ -ax., J+cosx

(3)J sec3xak
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o.:py'l ,X' = y. . ) . y' =,f 0*$.j.11 gp; iJ q.---Jl LIJI t*r(+)

,J^tsi1iari r:-rt i *, I n = I x'e* dx qriYl &lsiI Cts^]I dliriiYl ;,,r:u atl-i1S)

I, = Ixteu'dx 2-

i "ti= d. \rr)l &lsilt ..r1 (o)
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(i)rcos0=5
(ii)r - -5 sin d

4gYl crYrLJl 1.l t.Jsl,,fr,tJl LJS^iJl r-Ji(2)

errLitf cr1.g6-yl ehii-u Pr(rrrlt) , Pr(rrr?r) o$tiill4+^Jt-+ #i3"^lliJ:L'- t*-'i (3)

u,,tJt- ,JJt -.ri-jr -dil.ll-o;yllcJ=ril:=t .+-lii y'-6y+2x+t = 0 #l$let'illihL^tt-'i(+)
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